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Adding
Integer Rules

Same Signs:
Add and Keep
the same sign

Different Signs:
Subtract and Take

the sign of the
higher number



Integer Match

Name ___________

Match each phrase to the correct integer by drawing a line.

1. a drop of 15 degrees -40

2. an increase of $40 7

3. a decrease of 7 pounds -6

4. a profit of $9 40

5. 7 feet above sea level -15

6. the team gains 3 yards -12

7. stock prices fall $40 -8

8. 12 degrees below zero 6

9. 8 feet below sea level -7

10. the temperature rises 6 degrees 9

11. the team loses 6 yards 3

12. a gain of 15 pounds 15



Integer Match
KEY

1. a drop of 15 degrees -40

2. an increase of $40 7

3. a decrease of 7 pounds

-6

4. a profit of $9 40

5. 7 feet above sea level -15

6. the team gains 3 yards -12

7. stock prices fall $40 -8

8. 12 degrees below zero 6

9. 8 feet below sea level -7

10. the temperature rises 6 degrees 9

11. the team loses 6 yards 3

12. a gain of 15 pounds 15



Exit Slip

1. -5 + (-10) =

2. 48 + (-3) =

3. -65 + (-17) =

4. -93 + 20 =

5. -5 + (-5) =
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Exit Slip
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4. -93 + 20 =
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Exit Slip

1. -1 - (-4) =

2. 10 - (-3) =

3. 50 - 75 =

4. -6 - 7 =

5. -2 - 5 =
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5. -2 - 5 =



Exit Slip

1. -14 x 4 =

2. -10 x (-8) =

3. -9 x (-7) =

4. 21 x (-5) =

5. -11  x (-11)  =
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Exit Slip

1. -5  [  (-5) =

2. -72 [ 8 =

3. 125 [ (-5) =

4. -48 [ (-6) =

5. 36 [ 12 =
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Exit Slip
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4. -48 [ (-6) =

5. 36 [ 12 =



Division Exit Slip
Key

1. -5  [  (-5) =       1

2. -72 [ 8 = -9

3. 125 [ (-5) = -25

4. -48 [ (-6) =        8

5. 36 [ 12 =           3

Multiplication Exit
Slip Key

1. -14 x 4 = -56

2. -10 x (-8) =       80

3. -9 x (-7) =        63

4. 21 x (-5) = -105

5. -11  x (-11)  =   121

Subtraction Exit Slip
Key

1. -1 - (-4) =        3

2. 10 - (-3) =       13

3. 50 - 75 = -25

4. -6 - 7 = -13

5. -2 - 5 = -7

Addition Exit Slip
Key

1. -5 + (-10) = -15

2. 48 + (-3) =     45

3. -65 + (-17) = -82

4. -93 + 20 = -73

5. -5 + (-5) = -10



Name ___________

Adding Integers

Problem Model Answer

1. -3 + - 2 =

2. 4 + - 2 =

3. -2 + - 1 =

4. -3 +  3  =

5. 5 + - 2 =

6. -1 + - 1 =

7. -6 + 4 =

8. -5  + 3 =

9. -6 + - 4 =

10. 7 + - 1 =

11. 4 + - 1 =

12. -2 + -2 =



Name ___________

Adding Integers

Problem Model Answer

1. -3 + - 2 = --- -- -5

2. 4 + - 2 = ++++ -- 2

3. -2 + - 1 = -- - -3

4. -3 +  3  = --- +++ 0

5. 5 + - 2 = +++++ -- 3

6. -1 + - 1 = - - -2

7. -6 + 4 = ------ ++++ -2

8. -5  + 3 = ----- +++ -2

9. -6 + - 4 = ------ ---- -10

10. 7 + - 1 = +++++++ - 6

11. 4 + - 1 = ++++ -

3

12. -2 + -2 = -- -- -4



Name ___________

Adding Integers

Problem Answer

1. 8 + - 2 =

2. -5 +  9 =

3. -10 + - 1 =

4. 7 + -3  =

5. -9 + - 4 =

6. -11 + - 3 =

7. 15 + -8 =

8. 5  + -3 =

9. -20 + - 20 =

10. 17 + - 5 =

11. -7 + - 6 =

12. -14 + -10 =



Name ___________
Adding Integers

Problem Answer

1. 8 + - 2 = 6

2. -5 +  9 = 4

3. -10 + - 1 = -11

4. 7 + -3  = 4

5. -9 + - 4 = -13

6. -11 + - 3 = -14

7. 15 + -8 = 7

8. 5  + -3 = 2

9. -20 + - 20 = -40

10. 17 + - 5 = 12

11. -7 + - 6 = -13

12. -14 + -10 = -24



Name ___________

Adding Integers

Problem Rule Used Answer

1. 10 + - 9 =

2. -33 + - 20 =

3. -19 + 5 =

4. -21 + - 6  =

5. -17 + - 11 =

6. -14 + - 23 =

7. 40 + -2 =

8. 30  + -30 =

9. -15 + - 8 =

10. 28 + - 6 =

11. -55 + 60 =

12. -4 + 79 =



Name ___________

Adding Integers

Problem Rule Used Answer

1. 10 + - 9 = Different 1

2. -33 + - 20 = Same -53

3. -19 + 5 = Different -14

4. -1 + - 23  = Same -24

5. -17 + - 11 = Same -28

6. -14 + - 23 = Same -37

7. 40 + -5 = Different 35

8. 30  + -30 = Different 0

9. -15 + - 8 = Same -23

10. 28 + - 6 = Different 22

11. -55 + 60 = Different 5

12. -4 + 79 = Different 75



Name ___________

Subtracting Integers

Problem Answer

1. -5 - 1 =

2. 1 - 3 =

3. -1 - 4 =

4. 2 - (-3) =

5. -4 - 2 =

6. -4 - 3 =

7. 5 - (-2) =

8. -1 – (-1) =

9. -2 - 2 =

10. 7 - 6 =

11. 2 - 6 =

12. -1 - 7  =



Name ___________

Subtracting Integers

Problem Answer

1. -5 - 1 = -6

2. 1 - 3 = -2

3. -1 - 4 = -5

4. 2 - (-3) = 5

5. -4 - 2 = -6

6. -4 - 3 = -7

7. 5 - (-2) = 7

8. -1 – (-1) = 0

9. -2 - 2 = -4

10. 7 - 6 = 1

11. 2 - 6 = -4

12. -1 - 7  = -8



Multiplying &
Dividing

Integer Rules

Same Signs:
Positive Answer

Different Signs:
Negative Answer



Name ___________

Multiplying Integers

Problem Rule Answer

1. -9  x  2 =

2. 4  x -3 =

3. -1   x - 2 =

4. 6  x -1 =

5. 1  x -9 =

6. -8  x   2 =

7. -5   x -2 =

8. -7  x   1 =

9. -6  x  2 =

10. 2  x  5 =

11. -3  x -7 =

12. -2  x -2  =



Name ___________

Multiplying Integers

Problem Rule Answer

1. -9  x  2 = Different -18

2. 4  x -3 = Different -12

3. -1   x - 2 = Same 2

4. 6  x -1 = Different -6

5. 1  x -9 = Different -9

6. -8  x   2 =  Different -16

7. -5   x -2 = Same 10

8. -7  x   1 = Different -7

9. -6  x  2 = Different -12

10. 2  x  5 = Same 10

11. -3  x -7 = Same 21

12. -2  x -2  = Same 4



Name ___________

Multiplying Integers

Problem Rule Answer

1. 10  x -2 =

2. -12  x -3 =

3. -9  x - 6 =

4. 1  x -19 =

5. -8  x -9 =

6. -20  x   4 =

7. -15  x -3 =

8. -2   x   16 =

9. -6  x  30 =

10. 8  x  7 =

11. -2  x -24 =

12. -4  x -50 =



Name ___________

Multiplying Integers

Problem Rule Answer

1. 10  x -2 = Different -20

2. -12  x -3 = Same 36

3. -9  x - 6 = Same 54

4. 1  x -19 = Different -19

5. -8  x -9 = Same 72

6. -20  x   4 = Different -80

7. -15  x -3 = Same 45

8. -2   x   16 = Different -32

9. -6  x  30 = Different -180

10. 8  x  7 = Same 56

11. -2  x -24 = Same 48

12. -4  x -50 = Same 200



Name ___________

Dividing Integers

Problem Rule Answer

1. -80 ÷ 2 =

2. -66 ÷ -11 =

3. -81 ÷ - 9 =

4. -36 ÷ 6 =

5. -49 ÷ -7 =

6. 20 ÷ 4 =

7. -100 ÷ 10 =

8. -75 ÷ 25 =

9. -15 ÷ 15 =

10. -48 ÷ -12 =

11. 60 ÷ -20 =

12. -4 ÷ -2 =



Name ___________

Dividing Integers

Problem Rule Answer

1. -80 ÷ 2 = Different -40

2. -66 ÷ -11 = Same 6

3. -81 ÷ - 9 = Same 9

4. -36 ÷ 6 =  Different -6

5. -49 ÷ -7 = Same 7

6. 20 ÷ 4 = Same 5

7. -100 ÷ 10 = Different -10

8. -75 ÷ 25 = Different -3

9. -15 ÷ 15 = Different -1

10. -48 ÷ -12 = Same 4

11. 60 ÷ -20 = Different -3

12. -4 ÷ -2 = Same 2



Name ___________

Dividing Integers

Problem Rule Answer

1. 8 ÷ -2 =

2. -12 ÷ -3 =

3. 9 ÷ - 3 =

4. 15 ÷ -5 =

5. -8 ÷ -1 =

6. -20 ÷ 4 =

7. -16 ÷ -8 =

8. -14 ÷ 2 =

9. 18 ÷ 3 =

10. -16 ÷ -2 =

11. -6 ÷ -2 =

12. 4 ÷ -4 =



Name ___________

Dividing Integers

Problem Rule Answer

1. 8 ÷ -2 = Different -4

2. -12 ÷ -3 = Same 4

3. 9 ÷ - 3 = Different -3

4. 15 ÷ -5 =   Different -3

5. -8 ÷ -1 = Same 8

6. -20 ÷ 4 = Different -5

7. -16 ÷ -8 = Same 2

8. -14 ÷ 2 = Different -7

9. 18 ÷ 3 = Same 6

10. -16 ÷ -2 = Same 8

11. -6 ÷ -2 = Same 3

12. 4 ÷ -4 = Different -1



Name ___________

Solving Problems with Integers

Problem Answer

1. -33 ÷ 11 =

2. -42 ÷ -6 =

3. -12  x - 12 =

4. -6  +  6  =

5. -4 - (-7) =

6. -80  + -4 =

7. -10  +  10 =

8. -21 ÷ -7 =

9. 7 - (-19) =

10. -40 - 12 =

11. 16  x -2 =

12. -3  x -3 =



Name ___________

Solving Problems with Integers

Problem Answer

1. -33 ÷ 11 = -3

2. -42 ÷ -6 = 7

3. -12  x - 12 = 144

4. -6  +  6  = 0

5. -4 - (-7) = 3

6. -80  + -4 = -84

7. -10  +  10 = 0

8. -21 ÷ -7 = 3

9. 7 - (-19) = 26

10. -40 - 12 = -52

11. 16  x -2 = -32

12. -3  x -3 = 9



Thank you!
Thank you for purchasing my product.

I hope you enjoy it as much as I do.
Please let me know if you have any questions.

Follow my store for updates
and don’t forget to leave a rating! 

http://www.teacherspayteachers.com/Store/Tara-Martin-5099
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